I have encountered a DOE aspect issue as below:

Background:

1. A new plastic mold with 20-cavity, that means each shot/trial will yield 20 parts

2. each part has two critical dimensions.

3. there are 11 factors/variables (injection molding machine parameters) which will have impact on these 2 critical dimension

Purpose of DOE

1. By DOE, custom design, to detect which factors/parameters are RED factor or significant factors

2. Once significant factors is determined, what range of parameter can be used to control these significant factors? and achieve designed specification.

what have I done?

1. in JMP, I open a custom design

2.  in Response dialog, I input all 40 response variables and their upper lower limit

3. in factor dialog, I input all 11 variables with 2-level, and change necessary into if possible

4. click on "continue", then "make table"

5. come a DOE plan table with 8-trial

6. done all 8-trial and come result with 40-response

7. Analysis> Fit model, and select 40-response and click Y; select 11-factor and add to construct model effect; hy here I was confused

  - If I follow multivariate analysis principle, I fail to get what I want? which descripted in purpose of DOE
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Here I selected Manova from personality, and generate a report, neither whatever I get the desired range of factors, nor I get these desired response. 
  -If I select standard least square from personality, I can get what I want? find significant factor, and use profiler to define their range, but I think it is unreasonable to multivariate analysis.
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Or 

[image: image3.png]o N e B =TS

4~IModel Specification

Select Colurns ——————pick Role Varisbles oty
Whfandom Block - v |[4u -
s =

AD1
b ALz
el 4D2 M
s Py
o [optional numeric
L6 optional numeric
LT
s optional
s
ﬁm  Construct Model Effects
11 z
4 add ;:ndam Block: Random

[ o 2
a2 o
o> a
e

lacros ¥ | X5
o3 M

-
e veaee [2] o
(s T bt = e
| tom® v

No Intercept




Here I selected standard least square or stepwise fro personality, then I can identify which factor is significant? And use factor profiler to find a reasonable range. What response can achieve where?
in addition, in JMP guide, I have yet found any DOE example is related to multivariate, but in real world, there are many case like that especially in industrial. I also have put that case in

http://www.jmpforum.net/forum.php/forum.php?mod=viewthread&tid=1599

but by now, no one can help me.
